
INSTALLATION MANUAL
INSTALLATIONSANLEITUNG
Balcony Easy Solar Bracket V2.1

Einfache Solarhalterung für den Balkon
SC01-EBC020-

V2.1

EN

DE



1.Installation tools

Allen wrench
Inbusschlüssel Meßband

Tape

01 02

Electric Screw Machine
ElektroschrauberHolzhammer

Drehmomentschlüssel

Wood Hammer

Twist Wrench

Inbusschlüssel
13mm Spanner

1.Werkzeuge für die Installation
2.System components
2.Komponenten des Systems

A B

C D

E F

G H



4.1 Fixed on balcony with adjustable tilt between 10°-30°

03 04

Produktspezifikation
Product specification

260mm 275mm 300mm 38mm

35mm 35mm 40mm

Al 6005-T5
AlMgSi0.5 

SUS304
1.4301

Al 6005-T5
AlMgSi0.5 

Al 6005-T5
AlMgSi0.5 

Al 6005-T5
& EPDM

Al 6005-T5
AlMgSi0.5 

Al 6005-T5
AlMgSi0.5 

30mm 220mm M8*20 M8*25

M8*55 M8*60 M8*90

Al 6005-T5
AlMgSi0.5 

SUS304
1.4301

Al 6005-T5
AlMgSi0.5

SUS304
1.4301

SUS304
1.4301

SUS304
1.4301

SUS304
1.4301

Schema der Haken-Befestigung 
auf dem Balkon mit Winkel 0°

Fixed on balcony with 0°

Schema der Haken-Befestigung auf dem 
Balkon mit einstellbarer 

Neigung zwischen 10°-30°

Fixed on balcony with adjustable tilt 
between 10°-30°；

4.11 Balcony Hook installation：Hooks are attached via bolts and holes in the 
panel frame

4.11 Installation mit Haken auf dem Balkon：Die Haken werden mit Schrauben und 
Löchern im Plattenrahmen befestigt.

3.Application scenarios
3.Einsatzszenarien

4.Installation Instruction
4.Installationsanweisung

4.1 Schema der Haken-Befestigung auf dem Balkon mit einstellbarer 
Neigung zwischen 10°-30°



05 06

M8 X 20 

4.12 L foot installation and connection: The L foot is locked on the other side of the panel 
frame with bolts, and then connected with the telescopic rod with bolts.Before fixing 
the telescopic rod onto the frame, first lock and secure the extendable portion at the 
desired angle and length according to the installation requirements.

4.12 Installation und Verbindung der L-Füße: Arretieren Sie den L-Fuß auf der anderen 
Seite des Paneelrahmens mit Schrauben, und verbinden Sie ihn dann mit der 
Teleskopstange mit BolzenBevor. Sie die Teleskopstange am Rahmen befestigen, 
Verriegeln und fixieren Sie zunächst das Teleskopteil im Voraus entsprechend dem für 
die Installation erforderlichen Winkel und der Länge der Teleskopstange.

M8 X 20 M8 X 45 M8 X 20

H

C

H

A
A

C

4.13 Installation of telescopic rod: The telescopic rod is pre-installed at the factory, 
and the base is also locked on the rail with M8 bolts;

4.13  Installation der Teleskopstange: Die Teleskopstange ist werkseitig vormontiert, der 
Sockel wird ebenfalls mit M8-Schrauben auf der Führungsschiene arretiert;

M8 X 60 M8 X 25 End cap I  Endkappe

C

C

D

D



07 08

4.15 Rail installation: The bolt head snaps into the groove of the rail, the aluminum plate is 
on the other side of the railing, and the bolt is locked as shown in the picture;

4.15 Installation der Führungsschiene: Setzen Sie den Schraubenkopf in die Nut der 
Führungsschiene ein, die Aluminiumplatte befindet sich auf der anderen Seite des 
Geländers, und arretieren Sie die Schraube wie in der Abbildung gezeigt;

D

E

D

E

M8 X 55

4.14 The hook and railing connection:the hook hangs on the balcony railing, through 
the bolt to prevent it from falling out;

4.14 Verbindung zwischen Haken und Geländer: Der Haken wird an das Balkongeländer 
gehängt, und der Bolzen wird hindurchgeführt, damit er nicht herausfallen kann;

M8 X 90A

F

F

A



09 10

4.16 According to the required angle, adjust the position of the telescopic rod and 
then lock the bolt, and the installation is completed;

4.16 Passen Sie die Position der Teleskopstange an den gewünschten Winkel an, ziehen Sie 
die Schraube fest und schließen Sie die Installation ab; 4.21 The hooks and rails are attached to the railing in the same way as the angled 

ones, removing the adjustable feet and L connectors. Press the panel directly on 
the guide rail with end clamps, as shown in the picture below. The M8 bolt head 
is snapped into the slot, and the nut is locked.

4.21 Der Verbindungsmodus zwischen dem Haken, der Führungsschiene und dem Geländer 
ist derselbe wie mit dem Winkel. Entfernen Sie den verstellbaren Fuß und das 
L-Verbindungsstück und drücken Sie das Paneel direkt mit seitlichem Druck auf die 
Führungsschiene, wie in der folgenden Abbildung gezeigt; klemmen Sie den Kopf der 
Schraube M8 in den Schlitz und sichern Sie die Mutter;

4.22 The installation is completed
4.22 Die Installation ist abgeschlossen

4.2 Balcony hook without angle solution
4.2 Schema der Haken-Befestigung auf dem Balkon mit Winkel 0°

M8 X 30



12 11

Purchasers should confirm whether they are able to install this product and 
obtain relevant permits in accordance with local laws and regulations, including 
but not limited to government, community, adjacent property owners, and 
property rights holders. 

Purchasers should engage qualified installers, professionals, or self-install only 
where permitted by law. 

Purchasers should also ensure that the installation supports the building or its 
accessories safely and meets installation requirements, and is sufficient to 
support the product and its photovoltaic power generation system for over 20 
years. 

Purchasers should not install or use this product in environments with corrosive 
air or water, such as acids or alkalis in the vicinity.

Purchasers should fully assess and bear the consequences of product installation 
and usage and their impact on the surroundings, including but not limited to 
potential lightning strikes, electrical or magnetic conduction, light reflection/pollution, 
obstruction of passage, collision with people, snow accumulation and ice shedding, 
depreciation of buildings, and their consequences. 

Purchasers are solely responsible for safety during installation, throughout the 
installation process, and subsequent usage, and/or any impact on third parties.

After installing the product, purchasers or their appointed installers should carry 
out waterproof, leak-proof, and anti-seepage construction at the junction of the 
product and the building to protect the building supporting the product, and 
conduct periodic inspections and maintenance in the future (at intervals not 
exceeding 1 year). 

Purchasers should be aware that nothing other than the photovoltaic power 
generation system should be supported on this product, and no additional 
weight should be placed on the product during installation or subsequent 
usage, particularly human suspension or leaning. It should not be used for 
any purpose other than supporting photovoltaic brackets. Purchasers should 
be aware that nothing other than the photovoltaic power generation battery 
system should be supported on this product, and no additional weight 
should be placed on the product during installation or subsequent usage, 

particularly human suspension or leaning. It should not be used for any purpose 
other than supporting photovoltaic brackets. 

We shall not be liable for any consequences resulting from failure to comply with 
local legal requirements and/or failure to follow instructions, warnings, etc., 
during the installation of this product, nor shall we be liable for any losses to the 
supporting building or any third party resulting from the installation process or 
subsequent usage, nor shall we be liable for any multiple installations, 
disassembly and reuse, or second-hand purchases of this product.

Purchaser/End User/Installer Notice:

( Please continue reading the content on the back)



MANUEL D'INSTALLATION
MANUALE D'INSTALLAZIONE
Support Solaire Facile pour Balcon V2.1

Struttura Semplice Da Balcone 
SC01-EBC020-

V2.1

FR

IT



1.Outils d'installation

Clé Allen
Chiave a brugola Metro

Ruban Adhésif

01 02

Tournevis électrique
Avvitatore pneumatico elettrico Martello

Cliquet reversibile

Marteau en Bois

Clé Dynamométrique

Chiave inglese
Clé de 13 mm

1.Strumenti per l'installazione
2.Composants du Système
2.Componenti della struttura

A B

C D

E F

G H

(Gli accessori potrebbero differire dal prodotto illustrat)
(Gli accessori potrebbero differire dal prodotto illustrat)



4.1 Fixé sur balcon avec inclinaison réglable entre 10°-30°

03 04

Specifiche del prodotto
Spécifications du Produit

260mm 275mm 300mm 38mm

35mm 35mm 40mm

Al 6005-T5
AlMgSi0.5 

SUS304
1.4301

Al 6005-T5
AlMgSi0.5 

Al 6005-T5
AlMgSi0.5 

Al 6005-T5
& EPDM

Al 6005-T5
AlMgSi0.5 

Al 6005-T5
AlMgSi0.5 

30mm 220mm M8*20 M8*25

M8*55 M8*60 M8*90

Al 6005-T5
AlMgSi0.5 

SUS304
1.4301

Al 6005-T5
AlMgSi0.5

SUS304
1.4301

SUS304
1.4301

SUS304
1.4301

SUS304
1.4301

Sul balcone a 0°

Fixé sur balcon à 0°

Sul balcone con inclinazione a 10-30°

Fixé sur balcon avec inclinaison réglable
entre 10° et 30° 

4.11 Installation des crochets de balcon : les crochets sont fixés via des boulons et 
        des trous dans le cadre du panneau

3.Scénarios d'application
3.Scenari di utilizzo 

4.Instructions d'installation
4.Istruzioni d'installazione

4.1 Sul balcone con inclinazione a 10-30°

4.11 Il fissaggio dei ganci alla ringhiera del balcone viene realizzato mediante 
        serraggio dei dadi forniti, garantendo una tenuta stabile e sicura



05 06

M8 X 20 

M8 X 20 M8 X 45 M8 X 20

H

C

H

A
A

C

M8 X 60 M8 X 25 Embout I  Tappo di gomma

C

C

D

D

4.12 Installation et connexion du pied en L : Le pied en L est verrouillé de l'autre côté 
       du cadre du panneau avec des boulons, puis connecté à la tige télescopique avec 
       des boulons. Avant de fixer la tige télescopique sur le cadre, verrouillez et fixez 
       d'abord la partie extensible à l'angle et à la longueur souhaités selon les exigences
       d'installation.

4.12 Installazione del piede a L: il piede a L collega da un lato il pannello e dall'altra 
        parte il piede estendibile. Prima regolare l'angolazione e la lunghezza desiderata 
        e poi fissare i dadi.

4.13 Installation de la tige télescopique : La tige télescopique est préinstallée en usine 
        et la base est également verrouillée sur le rail avec des boulons M8.

4.13 Il binario, preassemblato in fabbrica, viene fissato mediante le viti a M8.



07 08

D

E

D

E

M8 X 55

M8 X 90A

F

F

A

4.14 La connexion crochet et balustrade : le crochet s'accroche à la balustrade du balcon,
        à travers le boulon pour l'empêcher de tomber ;

4.14 Il gancio si fissa saldamente alla ringhiera mediante una vite di bloccaggio, che ne 
        garantisce la stabilità ed eliminando qualsiasi movimento indesiderato ;

4.15 Installation du rail : La tête du boulon s'enclenche dans la rainure du rail, la plaque 
        en aluminium se trouve de l'autre côté du garde-corps et le boulon est verrouillé 
        comme indiqué sur l'image.

4.15 L'installazione del binario prevede l'inserimento della testa del bullone nella sua 
        scanalatura. Sul lato opposto della ringhiera si posiziona la piastra in alluminio e 
        infine si serra il bullone. 



09 10

4.22 L'installation est terminée
4.22 L'installazione è completata

4.2 Solution de crochet de balcon sans angle
4.2 Sul balcone a 0°

M8 X 30

4.16 Selon l'angle requis, ajustez la position de la tige télescopique puis verrouillez le 
        boulon, et l'installation est terminée;

4.16 Regolare la struttura secondo l'angolazione richiesta e infine fissare la posizione 
        serrando il bullone per completare l'installazione; 4.21 Les crochets et les rails se fixent au garde-corps de la même manière que les rails 

        d'angle, en retirant les pieds réglables et les connecteurs en L. Appuyez le panneau 
        directement sur le rail de guidage à l'aide des serre-joints, comme illustré ci-des
        -sous. La tête du boulon M8 s'enclenche dans la fente et l'écrou est bloqué.

4.21 Il gancio e il binario si installano sulla ringhiera con lo stesso metodo utilizzato 
        per la struttura inclinata, rimuovendo precedentemente il  piede a L. Fissare il 
        binario direttamente alla ringhiera mediante gli appositi morsetti, come illustrato 
        nella foto seguente.



12 11

Purchasers should confirm whether they are able to install this product and 
obtain relevant permits in accordance with local laws and regulations, including 
but not limited to government, community, adjacent property owners, and 
property rights holders. 

Purchasers should engage qualified installers, professionals, or self-install only 
where permitted by law. 

Purchasers should also ensure that the installation supports the building or its 
accessories safely and meets installation requirements, and is sufficient to 
support the product and its photovoltaic power generation system for over 20 
years. 

Purchasers should not install or use this product in environments with corrosive 
air or water, such as acids or alkalis in the vicinity.

Purchasers should fully assess and bear the consequences of product installation 
and usage and their impact on the surroundings, including but not limited to 
potential lightning strikes, electrical or magnetic conduction, light reflection/pollution, 
obstruction of passage, collision with people, snow accumulation and ice shedding, 
depreciation of buildings, and their consequences. 

Purchasers are solely responsible for safety during installation, throughout the 
installation process, and subsequent usage, and/or any impact on third parties.

After installing the product, purchasers or their appointed installers should carry 
out waterproof, leak-proof, and anti-seepage construction at the junction of the 
product and the building to protect the building supporting the product, and 
conduct periodic inspections and maintenance in the future (at intervals not 
exceeding 1 year). 

Purchasers should be aware that nothing other than the photovoltaic power 
generation system should be supported on this product, and no additional 
weight should be placed on the product during installation or subsequent 
usage, particularly human suspension or leaning. It should not be used for 
any purpose other than supporting photovoltaic brackets. Purchasers should 
be aware that nothing other than the photovoltaic power generation battery 
system should be supported on this product, and no additional weight 
should be placed on the product during installation or subsequent usage, 

particularly human suspension or leaning. It should not be used for any purpose 
other than supporting photovoltaic brackets. 

We shall not be liable for any consequences resulting from failure to comply with 
local legal requirements and/or failure to follow instructions, warnings, etc., 
during the installation of this product, nor shall we be liable for any losses to the 
supporting building or any third party resulting from the installation process or 
subsequent usage, nor shall we be liable for any multiple installations, 
disassembly and reuse, or second-hand purchases of this product.

Purchaser/End User/Installer Notice:

( Please continue reading the content on the back)


